HERE 1501 EXIES LD

e £ Rk 2 6 4EE
T =H % = ¥¥14000234%
T = 4 ASATERERAE (0 2) TF
EK LT 12
- PERE T 1=
- YKL 1%
Lo # = - AL 12
- BAET 120
- L 13




A 150 1

EXIES LD

Rk 2 6 4R

¥ 140002445

S FREA KK R T 7 0 2

T F M =

¢ 300mm~ ¢ 600mmV U &A% L. L =220.2m
E%ET. ¢800mm %ZAEH=11.0m 1 =
<~ AR—)V T (M2 :3, fHNZ15:2) STEFT
T 1 =X

ElimmfE (RAK) A=0. 52ha




A 150 1

EXIES LD

Rk 2 6 4R

1400024 1%

R AN S S T

T = M =

-+ T
- PERE T
- YKL
- AL
- BAET
- P

. QI‘
. QI‘
. QI‘
. QI‘
. QI‘
. QI‘




A 150 1

EXIES LD

Rk 2 6 4R

H 14000237%

AT ACER PR XSGR THZ D 1

T F M =

¢ 300mm~ ¢ 500mmV UEAfizx T. L =164.2m

~ R —/)V T ($HN715) A& P
T 1 =K

EimmAs (RK) A=0.51ha




HAHE 1501 (CHAIFKIH)

4 FE Rk 2 6 4R
T L 2 *& =2 140002815
T ® % | FKEEE S L AT XAt 3 T H

dp450mmVUEMKL L=39. 5m
T =+ iy oL —3




KA1 501 (HAI5AIH)

e JE Rk 2 6 4R

T = & B 1400027452

T %= 4 HREEMERMERE T LXK OER
Atk T A=937. Ont
ESET N 12

T %= # %=




